
 

!

ACCESS-B4!
ENGLISH!

9 

 

 

Physical characteristics ______________________________________________  
 

Dimensions: 

 

 

              
!  



 

!

ACCESS-B4!
ENGLISH!

12 

  

 

!

! !

"#! $%&'! (%)*$+,*+-"! ."()'!
1 CJT000025 Anchoring lifting assembly 

 

1 

2 ACCC000001 Regulating swivel M- 10x70 mm 
 

1 

3 CJT000022 Coping set support  
 

1 

4 ACC000074 Support shaft 
 

1 

5 CJT000018 Set of upper shaft flanges  
 

1 

6 CJT000017 Set of lower shaft flanges 
 

1 

7 CJT000023 Chair support set of flanges  
 

1 

8 CJT000024 Chair fixation support set  
 

1 

9 ACC000084 Cylinder sleeve 
 

1 

10 CJT000014 Set of the cylinder principal shaft  
 

1 

11 ACCC000057 Lower cylinder cap  
 

1 

12 ACCC000058 Piston cylinder 
 

1 

13 ACCC000059 Upper cylinder cap  
 

1 

14 ACC000002 Rubber for the swivel base Ø80 mm  
 

1 

15 CJT000020 Feeding tube assembly for the cylinder 
 

1 

16 CJT000019 Set valve flange support 
 

1 

17 GE0202505 3-way valve 1/2 "GAS model "L” 
 

1 

18 ACC000056 3-way valve handle  
 

1 

19 ACC000005 Lift ball bar handle Ø40 mm  
 

2 

20 STA41020M Lower ball restraining knob 
 

1 

21 CJT000021 Elevator command bar set  
 

1 

22 CJT000026 Operating shaft valve  
 

1 

23 STA408060 Vale operating shaft  
 

1 

24 ACC000060 Coping protector  
 

2 

25 AS1000002 Cylinder joint  
 

2 

26 AS1000016 White user chair  
 

1 

27 ACC000061 Tube cap of Ø48 mm 5 
 

5 

28 GE7092020 Stainless elbow joint of 90º A- 316 M.H. 1/2 "  
 

3 

29 GE728002 Stainless double-thread buttress 316 1/2 " GAS 
 

3 

30 GA900 Faucet thread socket connectors 1/2 "GAS  
 

1 

31 STA441015 Stainless set screws M- 913 DIN 10x15 mm  
 

3 

32 STA440810 Stainless set screws 8x10 mm M- 913 DIN 22 316 
 

22 

34 STA440506 Stainless set screws 5x6 mm M- 316 2 DIN 913  
 

2 

35 STA405016 Pan-headed screw 5x16 mm M- 316  
 

8 

36 STA406016 Hallen screw 6x16 mm M- 316 
 

1 

37 STA41006 M-6 self-locking nut 316 
 

1 

38 STA400010 Stainless nut M-10 316  
 

1 

39 STA461210 Stainless steel stopper D- 316 12x100 mm 
 

3 

40 STA430005 Stainless washers for joint D-5 316 
 

4 

41 STA40416 PZ - D-4x16 mm conical screw for stainless steel joints 316  
 

4 

42 STA410835 Stainless hexagon screw M 8x35 mm 316 for seat flanges  
 

2 

43 STA41008 Stainless self-locking nut M-8 316 
 

2 

44 STA400008 Stainless nuts M-8 316 
 

2 

45 STA410815 Stainless hexagonal screw M8x15 mm for seat support 
 

2 

46 STA430008 Stainless washer D-8 316 8 mm 
 

8 

47 STA405020 Stainless pan-headed screw M5 -20 mm 316  
 

1 

48 STA400005 Stainless nut M-5 316  
 

1 

49 STA449025 Wide stainless washer D-5 316 
 

2 

50 ST41005 Stainless M-5 self-locking nut 316 
 

1 

51 PLC000002 316 stainless identification plate  1 
52 STA420516 Stainless socket screw M5x16 mm  

 

1 



 

!

ACCESS-B4!
ENGLISH!

13 

!

! !



 

!

ACCESS-B4!
ENGLISH!

14 

!

Declaration of conformity ____________________________________  

MANUFACTURER: ELEVATOR DETAILS: 
 

Name:   Flexinox Pool .                   Brand:   ACCESS 

Address:  C/Sant Adrià 76    Model:   B4 

  08789 Barcelona                               Serial Nº:   ______________ 

Country: Spain     Year of manufacture: ______________  

Telephone: (+34) 93 223 26 62 

Fax:  (+34) 93 223 26 67 

E-mail:  customer@inoxidables.com 

 

 

DECLARATION   CE   OF CONFORMITY     

 

We declare, under our responsibility, that the machine: 

Type: HYDRAULIC ELEVATOR FOR DISABLED PEOPLE WITH REDUCED MOBILITY 

Brand:  ACCESS 

It complies with the essential requirements of Health and Safety Directives:  

98/37 CE "Machines" 

And it is in accordance with the harmonized European standards: 

UNE EN ISO 12100-1 UNE EN ISO 12100-2 

UNE EN 982   UNE EN 418 

UNE EN 1050   UNE EN ISO 10535


